A WARNING: To avoid serious personal injury:

Carefully and strictly follow assembly instructions. Improper assembly of
furniture can result in structural failure, instability of the product, or tip-

over.

Monitor and carefully control the assembly components. These include
small parts and hardware that may present a choking hazard to small
children. Bob's furniture should be assembled only by responsible adults

and children should not be involved in the assembly process.

Where provided, wall mounting hardware should always be used as
prescribed in these instructions to anchor furniture to wall. Proper use of
the wall mounting hardware can significantly reduce the potential for

furniture tip-over and crushing injuries.



ASSEMBLY INSTRUCTION

30" Vanity

AN

60 minutes

(. Use of power tool to assembile this B
product will invalidate any claim and
damage this product making it

unsafe 1! N BD=—= 5\
. Please assemble on a clean soft =

surface to avoid damage (Included) (Not Included) (Not Included)
S .

Tools Required

5/6/2022 10f9 AVAN3OWHBB 30"VANITY



AN
Identifying the hardware-Identify the hardware using the illustrations below

1
INAT
L~

-

N

N

-

N-

"

-

N

N N R
A & 06 B e¥ 12 |C 12
@8*30mm Wood Dowel ) | M6*45mm Bolt )L @6*16mm Washer )
e N N h
D S 04 E o= 24 | F > 04
)L 3.5*15mm Screw )L )
N N )
G « 04 H O 04 |1 e (2
4*25mm Screw ) U ) U 4*50mm Screw y
N N o ™
& 08l [K 02 |L 6
L @6*20mm Wood Dowel )L g )L 3.512mm Screw |
N N )
v & 02

M 4*25mm Screw 14 N N 01 o 4*40mm Anchor
J J /

5/6/2022

20f9

AVAN3OWHBB 30"VANITY




Step 01




08

3.5*12mm Screw

[ #=~ o]

[ (Nomded) 01]

Step 04

AVAN30WHBB 30"VANITY

4 of 9

5/6/2022




Step 05 BT

c 06

@6*16mm Washer

(N~ o1

Note: Do not tighten bolts firmly at this time

Step 06 B.2Z.. "%

=

/
\/4

4

I\

=T

/A4
IR

O\

//// %//

Note: Tighten all bolts at this time

5/6/2022 50f9 AVAN30WHBB 30"VANITY




(4.2 o8]
26*20mm Wood Dowel

[ o=~ o]

08 |

3.5*15mm Screw )

D%M

02
02

4*25mm Screw

= 01

Step 07

AVAN30WHBB 30"VANITY

60of9

5/6/2022




[E o 16]
3.5*15mm Screw

Step 09

AVAN30WHBB 30"VANITY

7o0f9

5/6/2022




Step 11

02 |

02|

4*25mm Screw )

O

[ o= o)

[M L
4*25mm Screw

—1
r==2"T

AVAN30WHBB 30"VANITY

8of9

5/6/2022




Stﬂo 12
. Mark the location of the Studs in the wall on the
stretcher rail. [
. Drill a 1/16" thru hole in the center of the Stretcher Rail [
at the location of the studs in the wall.
. Secure the Vanity to the wall using screws ()
Make sure the screws align with the Stud in the wall.
. If hole locations do not align with stud in wall, install
the EZ Anchor(J) in to drywall and then screwing the EZ
Anchor in to the drywall.

(1 e 02

4*50mm Screw

4*40mm Anchor ]

e== 01]

<"1 Stud

Stud

5/6/2022 90of9 AVAN30WHBB 30"VANITY




